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103Q1 | 71.7 | 695 | 66.3 | 61.7 | 59.7 | 515 | 65.4 | 65.1 | 59.6
103Q2 | 66.1 | 65.2 | 589 | 71.0 | 686 | 65.1 | 63.6 | 63.6 | 59.6
103Q3 | 71.2 | 65.3 | 65.2 | 63.7 | 61.7 | 53.3 | 71.2 | 67.7 | 65.4
103Q4 | 71.0 | 68.7 | 63.1 | 614 | 575 | 50.7 | 71.8 | 69.0 | 64.8
BB 5
i’]‘%‘:‘*% 74 70 67 74 70 67 74 70 67
L GRRPIRAF 998 10 217 A% RS- W TR TS
T Ty
2% K A AR
103 # R =# Z Rl % 2 FF 4
H i+ :dB
B2k ABALAP At T KRRz
P Lvio s Lvio = Lvig s Lvio = Lvio s Lvio =
103Q1 31.2 345 30.0 30.0 325 30.0
103Q2 32.6 30.0 31.7 30.0 32.8 30.0
103Q3 34.1 30.1 31.2 30.0 33.6 30.1
103Q4 30.2 30.0 30.0 30.0 31.6 30.0
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